Mathematics 325
Supplementary Problems for Sec. 1.6

Classify the following second-order linear partial differential equations
as either hyperbolic, elliptic, or parabolic. In the case of hyperbolic
or parabolic equations, find the general solution in the plane.

A. u + 3u - 2u_ + 24u._ + Su = 0

XX YY X Y
B. u - 3u - 4u = 0

XX Xy 1'%

W
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C. uxx + Q§¥ 6uxy 0
D. u + 4u - 4u + u =0

XX YY Xy
E. uXX - uXy + 3uyy - 3uyx + 2uX - 2uy =0
F u + 2u + 3u - 2u. + 24u. + 5u =0

XX Xy X 0%
G uxx + uyy - 2 Xy + ux - uy =0
H u - 4u + 5u - 3u_ =20

XX Xy Y
I u - + 3u - 3u = sin(x+y)
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